## **CURRICULUM COMPENSATION**

I RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ADDAMS ELEMENTARY SCHOOL PLANNING YEAR ILT PLANNING ACTIVITIES DECEMBER 10, 2024, \$36.99 PER HOUR, 2 HOURS FOR A TOTAL OF \$73.98 EACH: (10-2210-0100-1341-535-5)

Edmonds, Meghan Mitchell, Natalie Gilbert, Rachel Riedle, Lindsey

Harris, Sherry

II RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ADDAMS ELEMENTARY SCHOOL PLANNING YEAR PLANNING ACTIVITIES JANUARY 8, 2025, \$36.99 PER HOUR, 2 HOURS FOR A TOTAL OF \$73.98 EACH: (10-2210-0100-1341-535-5)

Edmonds, Meghan Hawkshaw, Meghan

Harris, Sherry Kunz, Amber

III RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ADDAMS ELEMENTARY SCHOOL PLANNING YEAR WRITING PLANNING ACTIVITIES JANUARY 8, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-0100-1341-535-5)

Harris, Sherry Jurgens, Mary Hawkshaw, Meghan Riedle, Lindsey

IV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ADDAMS ELEMENTARY SCHOOL PLANNING YEAR ILT PLANNING ACTIVITIES DECEMBER 18, 2024, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-0100-1341-531-5)

Gilbert, Rachel Mitchell, Natalie Harris, Sherry Riedle, Lindsey

Kother, Amanda

V RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ADDAMS ELEMENTARY SCHOOL PLANNING YEAR PLANNING ACTIVITIES DECEMBER 5, 2024, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-0100-1341-535-5)

Bramblett, Rebecca Harris, Sherry

Gilbert, Rachel Hawkshaw, Meghan

Graham, Brianna Kunz, Amber

VI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ADDAMS ELEMENTARY SCHOOL PLANNING YEAR ILT PLANNING ACTIVITIES DECEMBER 3, 2024, \$36.99 PER HOUR, 2 HOURS FOR A TOTAL OF \$73.98 EACH: (10-2210-0100-1341-535-5)

Edmonds, Meghan Mitchell, Natalie Gilbert, Rachel Riedle, Lindsey Harris, Sherry

VII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DUBOIS ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BBSS PLANNING ACTIVITIES THROUGH JANUARY 13, 2025, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-4331-1341-534-5)

Divjak, Leann Nolting, Jenny Liska, Laura Vogel, Brianne

Miller, Latasha

VIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES JANUARY 13, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Beatty, Danielle Moore, Lori Hendon, Wendy Nolen, Emily

IX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES JANUARY 13, 2025, \$36.99 PER HOUR: (10-2210-4331-1341-534-5)

Cecil, Katelyn	1.00 hours	\$36.99
Constant, Ashley	1.50 hours	55.49
Crow, Cynthia	1.50 hours	55.49
Flanagan, Heather	1.50 hours	55.49
Furkin, Ruth	1.50 hours	55.49
Hayes, Stacey	1.50 hours	55.49

X RECOMMEND **APPROVAL** OF THE **FOLLOWING CERTIFICATED** PERSONNEL FOR **JEFFERSON MIDDLE** SCHOOL SCHOOL IMPROVEMENT ILT PLANNING ACTIVITIES JANUARY 9, 2025, \$36.99 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$46.24 EACH: (10-2210-4331-1341-534-5)

Barrett, Caitlin Crow, Cynthia
Berberet, Jamie Garman, Jeffrey
Boarman, Claire Jimerson, Angela
Constant, Ashley Johnson, Gay
Craig, Jonathon Scott, Tyra

XI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES JANUARY 8, 2025, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-4331-1341-534-5)

Crow, Cynthia Hayes, Stacey

Furkin, Ruth

XII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL SCHOOL IMPROVEMENT BBSS PLANNING ACTIVITIES JANUARY 14, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Anderson, Annaelise Garman, Jeffrey
Barrett, Caitlin Lenhardt, Kyle
Biggs, Brian Martin, Alexandra
Cecil, Katelyn Raymond, Christopher
Copp, Deborah Selsor, Michelle
Craig, Jonathon Sponsler, Alisa

Dwyer, Stephen

XIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MATHENY/WITHROW SCHOOL IMPROVEMENT PLANNING ACTIVITIES DECEMBER 3, 2024, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-4331-1341-534-5)

Bahlmann, Dara Garrett, Olivia
Bradley, Meridith Olagunle, Jessica
Brady Hanken, Kathleen Small, Laura
Duncan, Natalia Young, Jennifer

XIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHERN VIEW ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES JANUARY 14, 2025, \$36.99 PER HOUR, 4 HOURS FOR A TOTAL OF \$147.96 EACH: (10-2210-2600-1341-531-5)

Romadka, Bryan

XV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHERN VIEW ELEMENTARY SCHOOL BBSS COACHES MEETING (SEL) JANUARY 8, 2025, \$36.99 PER HOUR, 3 HOURS FOR A TOTAL OF \$110.97 EACH: (10-2210-0000-1341-537-5)

Spears, Heidi

XVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHERN VIEW ELEMENTARY SCHOOL PLANNING ACTIVITIES JANUARY 9, 2025, \$36.99 PER HOUR, 3 HOURS FOR A TOTAL OF \$110.97 EACH: (10-2210-2600-1341-531-5)

Borders, Ashley

XVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHERN VIEW ELEMENTARY SCHOOL MATH PLANNING ACTIVITIES JANUARY 8, 2025, \$36.99 PER HOUR, 3 HOURS FOR A TOTAL OF \$110.97 EACH: (10-2210-2600-1341-531-5)

Borders, Ashley

XVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHERN VIEW ELEMENTARY SCHOOL READING PLANNING ACTIVITIES JANUARY 10, 2025, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-2600-1341-531-5)

Romadka, Bryan

XIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRAHAM ELEMENTARY SCHOOL PLANNING YEAR LITERATURE PLANNING ACTIVITIES JANUARY 23, 2025, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-3100-1341-535-5)

Duke, Karen

Gebhardt, Emily

XX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRAHAM ELEMENTARY SCHOOL PLANNING YEAR LITERATURE PLANNING ACTIVITIES JANUARY 16, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-3100-1341-535-5)

Duke, Karen

Gebhardt, Emily

XXI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRAHAM ELEMENTARY SCHOOL PLANNING YEAR MATH PLANNING ACTIVITIES JANUARY 15, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-3100-1341-535-5)

Duke, Karen

Gebhardt, Emily

XXII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRAHAM ELEMENTARY SCHOOL PLANNING YEAR PLANNING ACTIVITIES JANUARY 14, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-3100-1341-535-5)

Duke, Karen

Gebhardt, Emily

XXIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRAHAM ELEMENTARY SCHOOL PLANNING YEAR BACKWARDS PLANNING ACTIVITIES JANUARY 10, 2025, \$36.99 PER HOUR, 2 HOURS FOR A TOTAL OF \$73.98 EACH: (10-2210-3100-1341-535-5)

Creek, William

Rudd, Douglas

XXIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRAHAM ELEMENTARY SCHOOL PLANNING YEAR BACKWARDS PLANNING ACTIVITIES JANUARY 7, 2025, \$36.99 PER HOUR, 3 HOURS FOR A TOTAL OF \$110.97 EACH: (10-2210-3100-1341-535-5)

Campbell, Lisa

Walk, Michelle

XXV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRAHAM ELEMENTARY SCHOOL PLANNING YEAR PLANNING ACTIVITIES JANUARY 8, 2025, \$36.99 PER HOUR, 3 HOURS FOR A TOTAL OF \$110.97 EACH: (10-2210-3100-1341-535-5)

Campbell, Lisa Creek, William Davis, Lacy Hughes, Lindsey Logsdon, Alicia Rudd, Douglas XXVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRAHAM ELEMENTARY SCHOOL BBSS COACHES MEETING (SEL) JANUARY 8, 2025, \$36.99 PER HOUR, 3 HOURS FOR A TOTAL OF \$110.97 EACH: (10-2210-0000-1341-537-5)

Rodriguez, Janet

XXVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR WILCOX ELEMENTARY SCHOOL PLANNING YEAR MATH PLANNING ACTIVITIES JANUARY 15, 2025 THROUGH JANUARY 15, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-3200-1341-535-5)

Bluhm, Wendy Martin, Bailey Kent, Jena Reincke, Rachelle

XXVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES JANUARY 21, 2025, \$36.99 PER HOUR, 2 HOURS FOR A TOTAL OF \$73.98 EACH: (10-2210-4331-1341-534-5)

Dold, Jena Langen, Natasha

XXIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL SCHOOL IMPROVEMENT CO-TEACHING PLANNING ACTIVITIES JANUARY 13, 2025, \$36.99 PER HOUR, 2 HOURS FOR A TOTAL OF \$73.98 EACH: (10-2210-4331-1341-534-5)

Dold, Jena Langen, Natasha

XXX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES JANUARY 13, 2025, \$36.99 PER HOUR, 3 HOURS FOR A TOTAL OF \$110.97 EACH: (10-2210-4331-1341-534-5)

Campbell, Melissa Nestler, Tena Durbin, Lori Roark, Heather

XXXI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES JANUARY 8, 2025, \$36.99 PER HOUR, 2.25 HOURS FOR A TOTAL OF \$83.23 EACH: (10-2210-4331-1341-534-5)

Acker, Allison House, Mikaila Campbell, Melissa Jones, Theresa XXXII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL RESTORATIVE PRACTICES (SEL) JANUARY 16, 2025, \$36.99 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$46.24 EACH: (10-2210-0000-1341-537-5)

House, Mikaila Schaver, Maire Murphy, Melissa Shepherd, Tosha Nestler, Tena Woodside, Alexis

Noll, Meghan

XXXIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL SCHOOL IMPROVEMENT FACE PLANNING MEETING JANUARY 16, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Durbin, Lori Roe, Katie

Finney, Elizabeth

XXXIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR WASHINGTON MIDDLE SCHOOL SCHOOL IMPROVEMENT ILT PLANNING ACTIVITIES JANUARY 16, 2025, \$36.99 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$46.24 EACH: (10-2210-4331-1341-534-5)

Coons, Roanna Mccarthy, Caitlin
Daniels, Sherry Schaefer, Bridget
Donaho, Kimberly Schatz, Katie
Fromm, Kelly Termine, Leslie

XXXV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR WASHINGTON MIDDLE SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES JANUARY 22, 2025, \$36.99 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$46.24 EACH: (10-2210-4331-1341-534-5)

Benoit, Claire Daniels, Sherry Coons, Roanna West, Andrew

XXXVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHEAST HIGH SCHOOL RESTORATIVE PRACTICE (SEL) JANUARY 22, 2025, \$36.99 PER HOUR, .25 HOURS FOR A TOTAL OF \$9.25 EACH: (10-2210-0000-1341-537-5)

Biggers, James Marley, Kathryn Borders, Nate Sellars, Miranda

Kantor, Kyler

XXXVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHEAST HIGH SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES DECEMBER 27, 2024, \$36.99 PER HOUR, 6 HOURS FOR A TOTAL OF \$221.94 EACH: (10-2210-4331-1341-534-5)

Atwood, Andrea Dirksen, Abbey

Buske, Nathan Laub, Jill

Clinton, Charles

XXXVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EDWIN A. LEE SCHOOL PLANNING YEAR CO-TEACH PLANNING ACTIVITIES JANUARY 16, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-2700-1341-535-5)

Quarton, Lori Seiz, Anne

XXXIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EDWIN A. LEE SCHOOL PLANNING YEAR CO-TEACH PLANNING ACTIVITIES JANUARY 24, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-2700-1341-535-5)

Quarton, Lori Shipman, Debra

Seiz, Anne

XL RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES DECEMBER MEDICAID BILLING ACTIVITIES DECEMBER 1, 2024 THROUGH JANUARY 7, 2025, FOR RATE SPECIFIED: (10-2210-6220-1342-000-0)

Baker, Audrey	4.00 hours	\$47.01 Per Hour	\$188.04
Brinkmann, Kristen	4.50 hours	66.11 Per Hour	297.50
Clark, Abigail	4.00 hours	57.30 Per Hour	229.20
Clark, Michelle	3.50 hours	78.78 Per Hour	275.73
Corley, Elizabeth	4.25 hours	73.24 Per Hour	311.27
Cruz, Brittany	5.00 hours	63.17 Per Hour	315.85
Deatherage, Debra	4.00 hours	67.86 Per Hour	271.44
Eck, Lindsay	3.00 hours	75.45 Per Hour	226.35
Fenstermacher, Lori	5.00 hours	78.78 Per Hour	393.90
Foster, Jennifer	3.00 hours	58.78 Per Hour	176.34
Hummel, Emily	5.00 hours	73.24 Per Hour	366.20
Hussein, Samira	3.50 hours	60.23 Per Hour	210.81
Kim, Whitney	4.00 hours	78.78 Per Hour	315.12
Lanter, Lindsey	4.50 hours	64.96 Per Hour	292.32
Marcum, Stacie	3.25 hours	61.00 Per Hour	198.25
Mcdaniel-Norton, Stacey	3.50 hours	77.67 Per Hour	271.85
Moore, Carolyn	2.00 hours	69.60 Per Hour	139.20
Naumovich, Amanda	5.00 hours	75.46 Per Hour	377.30
Parker, Grayce	4.00 hours	60.23 Per Hour	240.92
Ramirez, Amalia	2.50 hours	49.95 Per Hour	124.88
Rehn, Megan	5.00 hours	47.01 Per Hour	235.05
Reitz, Laura	4.00 hours	69.60 Per Hour	278.40
Rouland, Jill	2.50 hours	67.58 Per Hour	168.95
Sanberg, Kathryn	5.00 hours	55.83 Per Hour	279.15
Sapetti, Camryn	2.25 hours	45.54 Per Hour	102.47
Swierkosz, Beth	5.00 hours	76.57 Per Hour	382.85
Watt-Brennan, Janine	4.00 hours	64.96 Per Hour	259.84

XLI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES NOVEMBER MEDICAID BILLING ACTIVITIES NOVEMBER 4, 2024 THROUGH NOVEMBER 22, 2024, \$57.30 PER HOUR, 5 HOURS FOR A TOTAL OF \$286.50 EACH: (10-2210-6220-1342-000-0)

Farley, Nicole

XLII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FEDERAL FUNDS NON-PUBLIC INTERVENTION ACTIVITIES JANUARY 8, 2025 THROUGH JANUARY 13, 2025, \$32.26 PER HOUR, 14.5 HOURS FOR A TOTAL OF \$467.77 EACH: (10-3700-0000-1243-531-5)

Lamsargis, Kathy

XLIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EARLY START PYRAMID MODEL LEADERSHIP JANUARY 16, 2025, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-6431-1341-481-5)

Burk, Jennifer Scheffers, Morgan Naumovich, Amanda Shaffer, Andrea Parker, Grayce Simmons, Sara

Reynolds, Katie

XLIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION NEW TEACHER YEAR 1 FORUM #5 JANUARY 16, 2025, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-0000-1341-564-5)

Antonacci, Morgan Mejdrich, Bailey Black, Kole Miller, Ashleigh Bradley, Meridith Milward, Kara Buske, Sierra Murphy, Chenoa Byer, Macy Nolte, Erin Daley, Melinda Olagunle, Jessica Doss, David Rhodes, Macy Erickson, Carlie Rhodes, Timothy Faires, Grace Russell, Denni Fugnitti, Madison Scheffers, James Kelber, Lisa Stenke, Grace Krohe, Gavin Tanner, Katie Marsaglia, Brianne Tepatti, Miles Martin, Alexandra Virgin, Alexandra Martin, Amanda Walls, Ashley

XLV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MYPERSPECTIVES EVIDENCE LOGS PROFESSIONAL DEVELOPMENT JANUARY 8, 2025, \$36.99 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$46.24 EACH: (10-2210-0000-1341-564-5)

Anselm, Meghan
Archey, Heather K
Beebe, Lisa
Burgar, Nikki
Cecil, Katelyn
Crow, Cynthia
Flanagan, Heather

Gibbs, Katie
Heady, Cynthia
Holcomb, Beth
Prather, Valerie
Romer, Gina
Schatz, Katie
Stearns, Katherine

Furkin, Ruth

XLVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION SECONDARY SCIENCE DEPARTMENT CHAIR PD JANUARY 13, 2025, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-0000-1341-564-5)

Covey, James Troemper, Brett
Finley, Anne Vanderslik, Julie
Fromm, Kelly Walls, Peter
Goff, Donald Westfall, Katrina

Lowy, Abraham Ziemba-Montavon, Tammy

Tanner, Katie

XLVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION SECONDARY MATH DEPARTMENT CHAIR PD JANUARY 27, 2025, \$36.99 PER HOUR: (10-2210-0000-1341-564-5)

Barnard, Angela	1.75 hours	\$64.73
Boarman, Claire	1.75 hours	64.73
Bradley, Rechad	1.25 hours	46.24
Midiri, Frank	1.25 hours	46.24
Myers, Erin	1.25 hours	46.24
Schaefer, Bridget	1.75 hours	64.73
Webster, Stephanie	1.75 hours	64.73
Womble, Ashley	1.50 hours	55.49

XLVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION SECONDARY TECHNOLOGY FACILITATOR STIPEND QUARTER 2 OCTOBER 21, 2024 THROUGH DECEMBER 20, 2024, FOR RATE SPECIFIED: (10-2210-0000-1341-564-5)

Boarman, Claire	1.00 Stipend	\$12.50	\$12.50
Dickman, Barbara	1.00 Stipend	250.00	250.00
Durr, Tiana	1.00 Stipend	250.00	250.00
Faires, Austin	1.00 Stipend	137.50	137.50
Harrison, Maggie	1.00 Stipend	250.00	250.00
Havener, Michael	1.00 Stipend	250.00	250.00
Jachino, Rachel	1.00 Stipend	250.00	250.00
Kleinertz, Larresa	1.00 Stipend	250.00	250.00
O'Brien, Rhiannon	1.00 Stipend	37.50	37.50
Schaefer, Bridget	1.00 Stipend	31.25	31.25

XLIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION NEW TEACHER YEAR 2 FORUM #3 JANUARY 23, 2025, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-0000-1341-564-5)

Antonacci, Abigail	Jackson, Ashton
Baker, Brandon	Koustas, Madison
Behnke, Joshua	Lessen, Kelsey
Biggers, James	Lin, Christine
Borders, Nate	Martin, Bailey
Brinkley, Rita	Mceuen, Molly
Butler, Allory	Milliman, Kathryn
Cullen, Kristin	Netznik, Melissa
Daley, Melinda	Rivera, Onya
Erickson, Carlie	Rothfus, Erin
Farthing, Josh	Scheffers, James
Garrett, Olivia	Shively, Lydia
Glisson, Alec	Smith, Mckenzie
Green, Shelby	Smith, Melissa
Harris, Nicolette	Sperle, Traci
Hawkshaw, Meghan	Yockey, Lucille

L RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION ILT MINI PROFESSIONAL DEVELOPMENT JANUARY 8, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-0000-1341-564-5)

Davis, Lacy
Detmers, Erica
Gilbert, Rachel
Gray, Nicole
Greig, Anne
Grieme, Nathan
Hockenyos, Karen
Riech, Allison
Rogers, Chenoa
Suerdieck, Cristina

LI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MATH DATA PD JANUARY 22, 2025, \$36.99 PER HOUR: (10-2210-0000-1341-564-5)

Ballenger, Sara	0.75 hours	\$27.74
Boarman, Claire	0.75 hours	27.74
Glandon, Lindsey	0.75 hours	27.74
Haley, Carrie	0.50 hours	18.50
Hayes, Latausha	0.75 hours	27.74
Horstman, Laura	0.50 hours	18.50
House, Amber	0.50 hours	18.50
Mercado, Oscar	0.25 hours	9.25
Nicholas, Kelly	0.50 hours	18.50
Schaefer, Bridget	0.75 hours	27.74
Webster, Stephanie	0.75 hours	27.74

LII RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR STUDENT SUPPORT SERVICES DECEMBER MEDICAID BILLING ACTIVITIES DECEMBER 1, 2024 THROUGH DECEMBER 28, 2024, FOR RATE SPECIFIED: (10-2210-6220-1165-000-0)

Albaugh, Jenna	1.50 hours	\$62.33	\$93.50
Harris, Hirut	4.25 hours	46.33	196.90
Nelson, Tara	5.00 hours	70.56	352.80

LIII RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR DEPT OF INSTRUCTION NEW TEACHER YEAR 1 FORUM #5 JANUARY 16, 2025, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-0000-1341-564-5)

Humes, Tashlyn